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(2x —1)(5 — 3x) — (bx — 2)(5 — 3x)
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(2x —1)(5 — 3x) — (bx — 2)(5 — 3x)

= (5—3x)[(2x — 1) — (5x — 2)]
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(2x —1)(5 — 3x) — (bx — 2)(5 — 3x)

= (5—3x)[(2x — 1) — (5x — 2)]

=(5—-3x)(2x — 1 —5x +2)

L4@>

Lycée Liberte/Bamako (2x — 1)(5 — 3x) — (5x — 2)(5 — 3x) - Année scolaire 2013-2014 1/6




(2x —1)(5 — 3x) — (bx — 2)(5 — 3x)
= (5—3x)[(2x — 1) — (5x — 2)]

=(5—-3x)(2x — 1 —5x +2)

— (5 — 3x)(1 — 3x)
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(2x —1)(5 — 3x) — (bx — 2)(5 — 3x)
= (5—3x)[(2x — 1) — (5x — 2)]

=(5—-3x)(2x — 1 —5x +2)

— (5 — 3x)(1 — 3x)
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(2x —=3)(4 —7x) — (3x = 2)(7x — 4)
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(2x —3)(4 — 7x) — (3x = 2)(7x — 4)

= (2x—3)(4 —7x) — (Bx — 2)[—(4 — 7x)]
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(2x —=3)(4 —7x) — (3x = 2)(7x — 4)

= (2x —3)(4 — 7x) — (B3x — 2)[—(4 — 7x)]

= (2x = 3)(4 — Tx)+(3x — 2)(4 — 7x)
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(2x —=3)(4 —7x) — (3x = 2)(7x — 4)

= (2x —3)(4 — 7x) — (B3x — 2)[—(4 — 7x)]

= (2x = 3)(4 — TX)+(3x — 2)(4 — 7x)
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(2x —=3)(4 —7x) — (3x = 2)(7x — 4)
= (2x —3)(4 — 7x) — (B3x — 2)[—(4 — 7x)]

= (2x = 3)(4 — TX)+(3x — 2)(4 — 7x)

= (4 — 7x) [(2)( —3)+(3x — 2)]
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(2x = 3)(4 — 7x) — (3x — 2)(7x — 4)
=(2x —3)(4 —7x) — (3x — 2) [—(4 — 7X)]
=(2x = 3)(4 — 7x)+(3x — 2)(4 — 7x)

= (4 — 7x) [(QX —3)+(3x — 2)]

— (4 — 7x)(5x — 5)
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(2x —3)(4 — 7x) — (3x — 2)(7x — 4)
= (2x = 3)(4 = 7x) — (3x — 2)[—(4 — 7x)]
= (2x — 3)(4 — Tx)+(3x — 2)(4 — 7x)
= (4 —7x)[(2x —3) + (3x — 2)]

— (4 — 7x)(5x — 5)

= (4 —7x)[5(x — 1)]




(2x = 3)(4 — 7x) — (3x — 2)(7x — 4)
= (2x = 3)(4 = 7x) — (3x — 2)[—(4 — 7x)]
= (2x — 3)(4 — 7x)+(3x — 2)(4 — 7x)
= (4 —7x)[(2x —3) + (3x — 2)]
— (4—7x)(5x — 5)

= (4 —7x)[5(x — 1)]

=5(4 —T7x)(x — 1)




(2x = 3)(4 — 7x) — (3x — 2)(7x — 4)
= (2x = 3)(4 = 7x) — (3x — 2)[—(4 — 7x)]
= (2x — 3)(4 — 7x)+(3x — 2)(4 — 7x)
= (4 —7x)[(2x —3) + (3x — 2)]
— (4—7x)(5x — 5)

= (4 —7x)[5(x — 1)]

=5(4 —7x)(x — 1)




(Bx+2)(x +4)+ (6x+4)(4x + 1)
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(Bx +2)(x +4)+ (bx +4)(4x + 1)
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(Bx +2)(x +4)+ (bx +4)(4x + 1)

= (Bx+2)(x +4) + [2(3x + 2)| (4x + 1)
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(Bx+2)(x +4)+ (6x+4)(4x + 1)

= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)

= (Bx+2)(x+4) +2(3x +2)(4x + 1)
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(Bx+2)(x +4)+ (6x+4)(4x + 1)
= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)

= (3x +2)(x+4) +2(3x +2)(4x + 1)

= (Bx+2)[(x+4) +2(4x + 1)]
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(3x +2)(x +4) + (6x +4)(4x + 1)
= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)
= (3x+2)(x+4) +2(3x +2)(4x + 1)

= (Bx+2)[(x+4) +2(4x + 1)]

= (3x+2)(x +4+8x+2)

L4@>

Lycée Liberte/Bamako (3x + 2)(x + 4) + (6x + 4)(4x + 1) - Année scolaire 2013-2014 3/6




(Bx +2)(x +4) + (6x +4)(4x + 1)
= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)
= (Bx+2)(x +4) +2(3x+2)(4x + 1)
= (Bx+2)[(x+4) +2(4x + 1)]

= (Bx+2)(x +4+8x+2)

= (3x + 2)(9x + 6)
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(Bx +2)(x +4) + (6x +4)(4x + 1)
= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)
= (Bx+2)(x +4) +2(3x+2)(4x + 1)
= (Bx+2)[(x+4) +2(4x + 1)]
= (3x +2)(x + 4+ 8x +2)

= (3x + 2)(9x + 6)

= (3x+2) [3(3X + 2)})
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(Bx +2)(x +4) + (6x +4)(4x + 1)
= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)
= (3x + 2)(x + 4) + 2(3x + 2)(4x + 1)
= (Bx+2)[(x+4) +2(4x + 1)]
= (3x +2)(x +4+8x+2)
— (3x + 2)(9x + 6)

= (3x+2) [3(3X + 2)})

= 3(3x +2)(3x + 2)
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(Bx +2)(x +4) + (6x +4)(4x + 1)
= (Bx+2)(x+4) + [2(3x + 2)| (4x + 1)
= (Bx+2)(x +4) +2(3x+2)(4x + 1)
= (Bx+2)[(x+4) +2(4x + 1)]
= (3x +2)(x +4+8x+2)
— (3x + 2)(9x + 6)

= (3x+2) [3(3X + 2)})

= 3(3x +2)(3x + 2)
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2(4x +6)(5 — 2x) + (x — 3)(6x +9)
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2(4x +6)(5 — 2x) + (x — 3)(6x + 9)
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2(4x +6)(5 — 2x) + (x — 3)(6x + 9)

= 2[2(2x + 3)](5 — 2x) + (x — 3) [3(2x + 3)]
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2(4x +6)(5 — 2x) + (x — 3)(6x +9)

= 2[2(2x + 3)](5 — 2x) + (x — 3) [3(2x + 3)]

= 4(2x + 3)(5 — 2x) + 3(x — 3)(2x + 3)
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2(4x +6)(5 — 2x) + (x — 3)(6x +9)
= 2[2(2x + 3)](5 — 2x) + (x — 3) [3(2x + 3)]

= 4(2x + 3)(5 — 2x) + 3(x — 3)(2x + 3)

= (2x + 3)[4(5 — 2x) + 3(x — 3)]
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2(4x +6)(5 — 2x) + (x — 3)(6x +9)
= 2[2(2x +3)](5 — 2x) + (x — 3)[3(2x + 3)]
= 4(2x 4+ 3)(5 — 2x) 4+ 3(x — 3)(2x + 3)

= (2x + 3)[4(5 — 2x) + 3(x — 3)]

= (2x +3)[(20 — 8x) + (3x — 9)]
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2(4x +6)(5 — 2x) + (x — 3)(6x + 9)
= 2[2(2x +3)](5 — 2x) + (x — 3)[3(2x + 3)]
= 4(2x + 3)(5 — 2x) + 3(x — 3)(2x + 3)
= (2x + 3)[4(5 — 2x) + 3(x — 3)]

= (2x + 3)[(20 — 8x) + (3x — 9)]

— (2x 4 3)(11 — 5x)




2(4x +6)(5 — 2x) + (x — 3)(6x + 9)
= 2[2(2x +3)](5 — 2x) + (x — 3)[3(2x + 3)]
= 4(2x + 3)(5 — 2x) + 3(x — 3)(2x + 3)
= (2x + 3)[4(5 — 2x) + 3(x — 3)]

= (2x + 3)[(20 — 8x) + (3x — 9)]

= (2x + 3)(11 — 5%)
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(3x —2)(5bx + 1) — (9x — 6)°
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(3x —2)(bx + 1) — (9x — 6)°

L4@>

Lycée Liberte/Bamako (3x — 2)(5x + 1) — (9x — 6)2 - Année scolaire 2013-2014



(3x —2)(5bx + 1) — (9x — 6)°

— (3x —2)(5x + 1) — [3(3x — 2)]°
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(3x —2)(5bx + 1) — (9x — 6)°

— (3x —2)(5x + 1) — [3(3x — 2)]°

= (3x —2)(5x + 1) — 3?x(3x — 2)?

L4@>

Lycée Liberte/Bamako (3x — 2)(5x + 1) — (9x — 6) - Année scolaire 2013-2014 5/6




(3x —2)(5bx + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°

= (3x —2)(5x + 1) — 32x(3x — 2)?

— (3x—2)(5x + 1) — 9(3x — 2)°
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(3x —2)(5bx + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°

= (3x —2)(5x + 1) — 32x(3x — 2)?

= (3x — 2)(5x + 1) — 9(3x — 2)?
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(3x —2)(5x + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°
= (3x —2)(5x + 1) — 32x(3x — 2)?

= (3x — 2)(5x + 1) — 9(3x — 2)?

= (3x — 2) [(5x +1) —9(3x — 2)]

L4@>

Lycée Liberte/Bamako (3x — 2)(5x + 1) — (9x — 6) - Année scolaire 2013-2014 5/6




(3x —2)(5x + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°
= (3x — 2)(5x + 1) — 3°x(3x — 2)?
= (3x — 2)(5x + 1) — 9(3x — 2)°

= (3x —2)[(5x + 1) — 9(3x — 2)]

= (3x — 2)[(5x + 1) — (27x — 18)]
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(3x —2)(5x + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°
= (3x — 2)(5x + 1) — 3°x(3x — 2)?
= (3x — 2)(5x + 1) — 9(3x — 2)°
= (3x — 2)[(5x + 1) — 9(3x — 2)]

= (3x — 2)[(5x + 1) — (27x — 18)]

= (3x — 2)(5x + 1 — 27x + 18)]
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(3x —2)(5x + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°
= (3x — 2)(Bx + 1) — 32x(3x — 2)2
= (3x — 2)(5x + 1) — 9(3x — 2)°
= (3x — 2)[(5x + 1) — 9(3x — 2)]
= (3x — 2)[(5x + 1) — (27x — 18)]
= (3x — 2)(5x + 1 — 27x + 18)]

= (3x — 2)( — 22x + 19) <@
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(3x —2)(5x + 1) — (9x — 6)°
— (3x —2)(5x + 1) — [3(3x — 2)]°
= (3x — 2)(Bx + 1) — 32x(3x — 2)2
= (3x — 2)(5x +1) — 9(3x — 2)°
= (3x — 2)[(5x + 1) — 9(3x — 2)]
= (3x — 2)[(5x + 1) — (27x — 18)]
= (3x — 2)(5x + 1 — 27x + 18)]
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(3x 4+ 2) — (5x — 5)(x + 1)
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(3x +2)° — (bx = 5)(x+ 1)
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(3x +2)* — (bx = 5)(x + 1)
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(3x 4+ 2) — (5x — 5)(x + 1)

= (9x% + 12x + 4) — (5x*> + 5x — 5x — b)
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(3x 4+ 2) — (5x — 5)(x + 1)

= (9x% + 12x + 4) — (5x*> + 5x — 5bx — b)

= 9x%? + 12x + 4 — (5x® — b)
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(3x 4+ 2) — (5x — 5)(x + 1)
= (9x® + 12x + 4) — (5x® + 5x — bx — b)

= 9x% + 12x + 4 — (5x® — b)

—Ox? 4+ 12x +4 —5x2 +5
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(3x 4+ 2) — (5x — 5)(x + 1)
= (9x® + 12x + 4) — (5x® + 5x — bx — b)
= 9x% + 12x + 4 — (5x® — b)

—Ox2 4+ 12x+4 —5x2+5

=4x% +12x +9
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(3x 4+ 2) — (5x — 5)(x + 1)
= (9x* 4+ 12x + 4) — (5x*> + 5x — 5x — b)
= 9x% + 12x + 4 — (5x® — b)
=9x? + 12x +4 —5x*> +5

—Ax%2 +12x+ 9

= (2x + 3)?
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(3x 4+ 2) — (5x — 5)(x + 1)
= (9x* 4+ 12x + 4) — (5x*> + 5x — 5x — b)
= 9x% + 12x + 4 — (5x® — b)
=9x? + 12x +4 —5x*> +5

—4x%2 +12x+ 9

= (2x + 3)?
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(3x 4+ 2) — (5x — 5)(x + 1)
= (9x* 4+ 12x + 4) — (5x*> + 5x — 5x — b)
= 9x% + 12x + 4 — (5x® — b)
=9x? + 12x +4 —5x*> +5

= 4x? +12x +9

= (2x + 3)?
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(3x 4+ 2) — (5x — 5)(x + 1)
= (9x* 4+ 12x + 4) — (5x*> + 5x — 5x — b)
= 9x% + 12x + 4 — (5x® — b)
=9x? + 12x +4 —5x*> +5

—4x2 +12x+ 9

= (2x + 3)?
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